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	問題 (各5点)
以下の式を原始帰納的関数としての定義式に従って計算せよ。

(1) 23
(2) 3!

(3) pd(4)

(4) 2―4

(5) |2-3|

(6) sg(3)


(1) 23=power(2, 3)=p(2, 2, power(2, 2))=2・power(2, 2)

=2・p(2, 1, power(2, 1))=2・2・power(2, 1)

=2・2・p(2, 0, power(2, 0))=2・2・2・power(2, 0)

=2・2・2・1=8

(2) 3!=factorial(3)=p(2, factorial(2))=3・factorial(2)

=3・p(1, factorial(1))=3・2・factorial(1)

=3・2・p(0, factorial(1))=3・2・factorial(0)

=3・2・1=6

(3) pd(4)=p(3, pd(3))=3

(4) 2―4=n-minus(2, 4)=p(2, 3, n-minus(2, 3))=pd(n-minus(2, 3))

=pd(p(2, 2, n-minus(2, 2)))=pd(pd(n-minus(2, 2)))

=pd(pd(p(2, 1, n-minus(2, 1))))=pd(pd(pd(n-minus(2, 1))))

=pd(pd(pd(p(2, 0, n-minus(2, 0))))=pd(pd(pd(pd(n-minus(2, 0)))))

=pd(pd(pd(pd(2))))=pd(pd(pd(1)))=pd(pd(0))=pd(0)=0

(5) |2-3|=2―3+3―2=0+1=1

(6) sg(3)=S(Z(U21(2, sg(2))))=S(Z(2))=S(0)=1
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